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4.6C & 4.6D: Cosecant & Secant Graphs
THESE ARE YOUR NOTES!
f(x) = cscx = T Cosecant Vertical Asymptotes Secant Vertical Asymptotes
¥ AT X ¥ % +nmw

f(x) = secx = s
We will graph Cosecant and Secant from Sine and Cosine graphs
X-intercepts of sine and cosine graphs become vertical asymptotes of
Y=cosx X when ¢osx=o

cosecant and secant graphs.
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1. Graph y = 2csc(2x — m) and identify tl}e follo'wing * 6(4 ph ﬂ[[ipfo(" . y e | S,"\ ( 2)"'77)
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%mm Reciprocal 3 x4m)

2. Graph y = %sec(— —) and identify the{to%wm;] g _2 Cos ( X 4+ lr) .
- RI
Amplitude: R: Period: -777‘- ,Y B St
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3. Graph y——jseCﬂx and identity the following: 3— -é.cas X
HoRi2.
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Key Elements: A5:’ mm:

X=Y% x=3p

points! (0,-'3), (1, Va)l (2,~Y%)
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vertigl
y=29in(x+T)+1 Shi#rwl

4. Graph y = 2csc (x + g) + 1 and identify the following:
(-&,-1J Vv HoriZ,

mplitude: ange: Period: 2 Blase Shift:
Amplitud )< Rang 3 20) I n ;q#tg?
Start:_g A End: %ﬂ' One cycle:Eg; ?J Scale:%ﬂ“?{
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Key Elements:wics: PD’“B'- (0,3) 3 (IT,.”)
X=-8, x=% ,x=3
5. Graph y = —csc2x + 3 and identity the following: 8 - 5, n 2)(-'-3 .
4 (-2,23 . Hori2.
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b
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6. Graph y = —sec2x + 3 and identify the following: y‘-'-‘—CaS 2X 432

ke v HoR) 2
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/ 2
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5, x=3F Points: (0,2 (m,2)

Key Elements:

7. Graph y = 2sec (x + g) + 1 and identify the following: s oy 2&05(')(-} ?:E) + | Hoﬂ)z'
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8. Graph y = —%cscnx — 2 and identify the following: 8 = —é INTTX -2

NoRr12
Ampliludc:X Range: Period: Z_lr =2 Pirase Shift: e
v
stat: O A End: 2 One cycle: [0) lj Scale: ,3.‘:5.[
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5 KcyElcmcms:M‘fb{fj: X'= D} X< \J Y= 2
Points : (%,-2) , (%, ~1%)
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